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Note : Attempt all questions.
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Instructions : Question No. 1 is objective type question. It has Part (A),
Part (B) and Part (C). There are 5 questions in each Part and 1 mark is
allotted for each question.
(i) W HHE 2 q 6 T ATTHITIT T € | Fedh ¥ W 2 3ie aneifea &1
(IW F Afeas TR-HW 30 YK &) CGBoardonline.com
Question Nos. 2 to 6 are very short answer type questions. Each
question carries 2 marks. (Maximum word limit of answer is

30 words)

(ii) WO FHE 7V 12 TF ASIT T § | T FE W 3 3t afsifed €
(S F A UR-HM S0 AR )

Question Nos. 7 to 12 are short answer type questions. Each question
carries 3 marks. (Maximum word limit of answer is 50 words)

(iv) W9 shHiH 139 17 % AYSAIT W ¥ | T W A HAiaf fased 81
o T T 4 3 SR 1 (I A AfuhAn wR-H 75 TR ¥)
Question Nos. 13 to 17 are short answer type questions. Each question
has an internal choice. Each question carries 4 marks. (Maximum

word limit of answer is 75 words) ~ CGBoardonline.com
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Question Nos. 18 to 22 are long answer type questions. Each question
has an internal choice. Each question carries 5 marks. (Maximum
word limit of answer is 150 words)

o Al 23 T 24 defewa W €1 wEE I A HAtafw fawea
mmmeaﬁmaﬁﬁﬁl(wﬁaﬁ:ﬁnw—MHom%)

Question Nos. 23 and 24 are long answet type questions. Each question
has an internal choice. Each question carries 6 marks. (Maximum

word limit of answer is 250 words)

(@ve-31) et faseg g faf@e:  CGBoardonline.com [1x5=5]
(Part-A) Choose and write the correct optian :

() wHfE srefuren forw rdumeRt S AR ?

(30 W. AN, HH (7)) W, |f&En
(7)) N " (3) W9 & Jg
By which economist macroeconomics is gifted?
(a) Prof. J.M. Keynes (b) Prof. Boulding
(¢) Prof. Marshal (d) Prof. J K. Mehta
(if) e, TY TE el o IR B €
(37) F=iEE (%) T
(%) wida (3) wrFE
Market of fruits, milk and vegetables is :
(a) international () national
(c) provincial (d) local
(i) "R IR R, S 9 w1 B 9w R R 2
(37) Vadgm (7 NI FW
(@) T foed (3) H,

“Money is that which works as money”. By whom this
statement is given? CGBoardonline.com

(a)
(c)

Robertson (b) Prof. JM. Keynes
Hortle Vidarse (d) Pigou
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() e (9 =

(%) Tt we () vt ait
Which industry is based on agriculture?

(@) Jute () Sugar _

(¢) Cotton (d) All of the above

(v) IuR 99 w19 fFm e .

(37 vam faaem o () Fdwis o

(%) We-dHayH (?) WA fauem §

Selection of base year is made in :

(@) Standard Deviation "(b) Index Number

(c) Correlation '(d) Mean Deviation
(@ve-7) s ol =it 4 F™1T:  cGBoardonline.com - [1x5=5]

(Part-B) Fill in the blanks :

() wARAgMSEA T Rl W e T s

In macroeconomics, units are studied.
(i) g AR 1 oo % |
Price difference is characteristic of market.

(if) VIR & 5 e T A ?1
The name of the Central Bank of India is .
(iv) —— ! RA 1 BT Fe IR ¥

is called the Manchester of India.
CGBoardonline.com

(v) Trfw s Fufafem | SO soim Fifta fem T

In rural areas calories is decided to consume daily.
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(31) (=)

() '@t = e " (#1) =fwTa TS

(i) o s wRER F 3O () 12 ¥, 1988
WA g3

(iif) =afg srdeme (9) 2005

(iv) STE &/t A (3) 1956

(v) wra fmior e (3) TH&

(Part-C) Match the correct pair :
(A) (B)

(/) Establishment of ‘SEBI’ (A) Individual explanation
(/i) Beginning of production (B) 12 April, 1988
in Bhilai Steel Plant CGBoardonline.com

(#i7) Microeconomics (C) 2005
(iv) Measurement of standard of life (D) 1956
(v) Bharat Nirman Yojana (E) Index Number

T HNE?
What is Equilibrium Price?

=1 g fafae)
Write a definition of Interest.

o & &7 fafaw)

Write the scope of Public Finance.
dufaae o’ A T AR ?
What is the meaning of ‘personal income’?

et e it 4 SN CGBoardonline.com
Explain the Poverty Line.

IR e i i ferdand fafa |
Write three characteristics of Market Price.
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Write any three differences between Metallic money and Paper money

mﬁwﬂmﬁm%?ﬂﬂmfﬂm|

_ [1+1+1=3)
Write three causes of difference in wages in same business,

W T A7 o7 fenfia 11+1+1=3)
Write three merits of direct tax.

HHT ST IR T THe TP R H AR e frfa | (1+1+1=3)

Write three differences between gross domestic product and gross
national product.

USRI & =18 T T fafan) [1+1+1=3]

Write any three types of unemployment.

= Hﬂfﬂfﬁﬁiﬂﬁﬂﬂﬁﬁﬁml CGBoardonline.com [1+1+1+1=4]

Write four characteristics of microeconomics.
T/ OR

Y s & =R W fafan)

Write four importances of macroeconomics.

TR % =R 7= % fafaw) [1+1+1+1=4]

Write four main functions of money.
3T/ OR

F T (e ) o = S § 9w o fafaw)
Write four differences between Central Bank (Reserve Bank) and
Commercial Bank.

AV B A Tt & =R wnw fafa) (1+1+1+1=4]
Write four causes of difference in rate of profit.

37e7EqT/ OR
9 FH | H Wifd FE T =R T fafa)

Write four factors that affect demand of labour.
CGBoardonline.com
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W-16  Wifeeile 93 ¥ 9R Ay fafag [141+1+1=4)

y-17

¥ i-18

wW-19

uF1-20

Write four demerits of progressive tax.
CGBoardonline.com 3T/ OR

T FX F =R I fafw )

Write four merits of indirect tax.

oY T HER I F 9R SR wE Fif) [1+1+1+1=4]

Explain four differences between small and cottage industries.
37eIqT/OR
Tl e ST 2GRt & fr wR e A

Give four suggestions to improve the condition of cotton textile industries.

I R S & wra Frisor sami ) TAARC) (P ) [1+1+1+1+1=5]
Explain the credit control suggestions of Reserve Bank of India. (any five)

3reraT/ OR
T =S g % G TEvaw v fafan )
Write five essential merits of a good money.

T % Iy fagia =1 vl Fifem) [1+1+1+1+]1=5]

Explain modern theory of profit.  CGBoardonline.com

HIqT/OR
ferel & v fagia w1 v sreieeTd fafaw)
Write five criticisms of Ricardian theory of rent.

YR T 11 o 3 e gara ARG (S o) [1+1+1+1+]1=5]

Give necessary suggestions for rising National Income in India. (any five)

3rerar/ OR
Tpta A A el ¥ Hee i vl Fife) (R 7)

Explain the importance of national income accounting system. (any five)
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(i) TawEe =y - 7,000
(iiy) AR _ 12,000
(iv) T - 10,000
Einctl‘ cllilt (?rca's(:si Domestic Product and Gross National Product from
e following data :
Items (X in Crore)
() Net National Product - 45,000
(if) Depreciation - 7,000
(iii) Import - 12,000
(iv) Export - 10,000
CGBoardonline.com
39q1/OR
iy SRS & SR W 31 TTor Tafi 3 R Wi i Y ToE wi
C (THRUATH)
() A a9l ey - 15,000
(i) Tertmm - 5,000
(i) @™ - 25,000
(iv) = - 5,000
(v) Heae™ - 1,000
(vi) T Wm - 25,000

Calculate National Income from Income com
basis of the following data :

putation method on the

Items (Z in Crore)

00

(i) Salary and Wages - 1?300
(i Prof : 252000
(iif) Profit ! -
(iv) Interest — o
(v) Depreciation . 000

Domestic Investmen
(vi) Gross vestment © _——
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What main precautions should be kept in mind in construction of
index number? CGBoardonline.com

2T/ OR
" Frduier emfeier SRpftex 3 WA €0 € IR

“Index numbers are like economic barometer.” Explain.

wy-23  faarw & smyfe fagia <1 afas sren sifsgl
Explain the modem theory of distribution with diagram.

[2+242=6)

37981/ OR
=1 % sy fagia =t v =men if)
Explain the modern theory of interest with diagram.
WT-24  FH99 & fagidl ) dag F wwgmEe) [+1+1+141+1=6]
Explain in brief the canons of taxation. '
CGBoardonline.com  sporm/oR
T A= B YOI i Faiand fafag)

Write the characteristics of a good tax system.

CGBoardonline.com
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